Run 4369 mpswise, accO: All Run 4369 mpswise, accO: Beam OFF
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Run 4369 mpswise, acc0: Beam ON, Laser ON Run 4369 mpswise, acc0: Beam ON, Laser OFF
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Run 4369 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF Run 4369 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4369 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON Run 4369 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
o =]
g g F
10—
6 l— E_-' - Rt ‘ Py I ’
41— 41—
2 2
TR R U U SN R T R SR R ST SR BANERT RN 2y IR N (N T U A U R A (O T U A U S U N WA U M R '3 [+
0 200 400 GO0 800 1000 1200 1400 0 200 400 600 8O0 1000 1200 1400

mpsCoda mpsCoda



